Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Winter Examination-2022

Subject Name: Surveying - 11
Subject Code: 2TE04SUR1 Branch: Diploma (Civil)
Semester: 4 Date: 19/09/2022 Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a) Theodolite is an instrument used for____ 01
A) tightening the capstan-headed nuts of level tube
B) measurement of horizontal angles only
C) measurement of vertical angles only
D) measurement of both horizontal and vertical angles

b) The Least count of the theodolite is 01
A) 10 B)15” C)20” D)30’

c) Tacheometry is nothing but 01
A) Vernier Theodolite B) Transit theodolite
C) Non-transit theodolite D) Tilting theodolite

d) What is B.M. in surveying? 01
A) Bending moment B) Bombay mark
C) Bench mark D) British mark

e) The additive constant for the tacheometer is 01
AT/l B)i/f C)f/d D)f+d

f) Full form of EDM 01

A) Electromagnet Direct Measuring
B) Electric Direct measuring

C) Electromagnet Distance Measuring
D) Electronic Distance Measuring

g) What is the use of Total station? 01
A) Distance measure B) area measure
C) angle measure D) all of the above

h) In Tacheometer formula of staff distance 01

A) D=KS+C B) D=K+CS C) D=K+C+S D) D=K X CS

i) The act of turning the telescope of a theodolite through an angle of 180 01
degrees on a horizontal axis in a vertical plane is called what?
A) transiting  B) reversing  C) plunging D) swinging

j) The process of turning the telescope about the vertical axis in horizontal 01
plane is known as
A) transiting B) reversing  C) plunging D) swinging
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k) Laser plumet in total station is used for 01

A) centering B) leveling
C) orientation D) bisection of point sighted

I) What diameter of theodolite was used in trigonometric survey of India? 01
A) 18-inch  B) 36-inch  C) 17-inch D) 34 inches

m) The additive constant in tacheometer would be............. when taking 01
analytic lens.
A)0 B) 50 C)100 D) 75

n) In the normal position of the telescope, on which side of the observer is 01
the vertical circle of the theodolite?
A) left B) right
C) first left and then right D) first right and then left

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
A State the uses of theodolite. 07
B State the various axes used in theodolite and their relationship. 07

Q-3 Attempt all questions (14)
A Write a short note on: Tacheometry surveying 07
B What is Anallatic Lens? Write its advantages and disadvantages. 07

Q-4 Attempt all questions (14)
A The following observations were taken from the tachometer: 07

Device | Device | Fine vertical | fine reader Remarks

location | height | location | angle

p 15m | A +7° 15(20|25 |100 m
B -9° 2.3 (3.0 | 3.7 | relative
height of p

Points P, A, B are on the same line. Calculate the distance AB and find
the relative heights of A and B. The digits are 100 and 0.
B In trigonometric levelling, when the distance between the device location 07
and the base of the object cannot be measured, also derive the formula
for the height of the device axis nearer to the object location.

Q-5 Attempt all questions (14)
A Define and explain trigonometric levelling. 07
B Define transition curve and state its needs, purposes and advantages. 07

Q-6 Attempt all questions (14)
A Write the types of vertical curves and explain each type with a diagram. 07
B Two tangents intersect each other at 1000 m chain. Calculate the 07

following if the angle of intersection is 72° before the point of
intersection. The radius of the curve is 150 m. (1) Length of tangent
(2) Long life span (3) Length of curve (4) Concatenation of point of
curve and point of tangent (5) outer distance (6) Mid Ordinate
Q-7 Attempt all questions (14)
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Q-8

o >

b)

f)

9)

h)

Who is called a total station? Write the function of each part of it.
State the advantages and disadvantages of total station.

Attempt all questions

Write a short note on: (1) Robotic Total Station (2) Automatic Target
Identification

Explain the phased method for measuring the angle of deviation between
two lines.

Attempt the following questions:
(MCQ Type of Questions=1 mark*14=14 marks)

dlaDSlctgfe Aot ol GuAldL

A) Qad gutall sU2el -85S ol 555 Glotld

B) ML ASL WRUR HIU Hiucl

C) ML Glell slBL ol Hiual

D) sl Aol clEsA ool vlle] MU

theodolite o{l 29l d1RLA3l ®

A) 10> B)15” )20’ D)30”’
eslandl s68s olell uRq
A) co{laR? [Q2stcuse

C) (Aot - sHEL (A2ASICUse
ddei BM. g B 2

A) Aeslol HlRe  B) olial HI§ C) Ao HIE D) (22l Hs

sl Hle Ul GRRAAR AWAAS .............

A)f/l B)i/f C)f/d D)f+d
EDM of Y3 olld

A) Electromagnet Direct Measuring

B) Electric Direct measuring

C) Electromagnet Distance Measuring
D) Electronic Distance Measuring

e ot ol GUALL 9 U ?

B) dlsHuL (Q2Aslcuse
D) Rctélool (A0 Scuse

A) VR Hiual B) &otsm Hiucll
C) WRUA Hiuel D) GURlcl olules

eslallleui 2ts vidre] Yot
A)D=KS+C  B) D=K+CS C) D=K+C+S D) D=K X CS
sl 2@AuS\UA AlAxr uel GuR dRsd Aol 180

(Soflott WA ¥Raaell (5aual 9 sscuMi wWA & ?
A) dsHel  B) ¥Raq C) ai(®al D) ReloL

07
07
(14)

07

(14)

01

01

01

01

01

01

01

01

01

Page 3 of 5

S ﬁzp
> 7E ,';_ =
S



D owdl Qotdi afset vt QY 2Quslua ¥Raaell yBa 01

QA B.
A) dsHel  B) ¥Radq  C) wsil®al D) &<l
K) dect ol QU weall Gulol 01
A) 3ot s2cll B) dA2LRLHI
C) ARt 2ot M2 D) 2Wlcdl W8 (Geuosat s2cll

) alrdetl BslRlaet el Jecl Ul RaAslctseal Gualol 01
gAML vl ecl?

A) 18-inch B) 36-inch C) 17-inch D) 34 inches

M) o2z WAAl@ARSH Aot AWURA > 2sAHleMl GRRCAR 01
UJUASe] Hel AR B .
A) 0 B) 50 C)100 D) 75

N 2QuslUell Ul @AM, dAScuteq] alfse ubed uaclset 01
AotlRle(l 58 clyA 8l ©?
A stell  B) wuell
C) usctl stofl wal ugdl mell D) udcll el ual ugl stoll

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)

A glaadletsSeetl GUAL %RULAL 07

B aAdlctSe i AUl QU el wA AHell aeA doiu 07
ogRILcll.

Q-3 Attempt all questions (14)

2slalltl AUl : AdRAQHIURL Adaa 07

B QaARs Ao 9 B ? Aol sl2AEL W NRSLAEL AL 07

Q-4 Attempt all questions (14)
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Q-5

Q-7

Q-8

(s leell (1At WaASA AcHl wLell:
GusWL | BusWL | €5 Ggslal | €5 cdiats | IHEA
Wet | QR | ¥ULat

P 15m |A |+7° |15]20]25|p of wlal
B 9° |23 3037 |68 100
2R

(gl P, A, B A5 % ML B. AB AR 20 Aol A dal B «ll
AL QLU WL, AHAALS 100 W 0 B.

AslelPQa Qe s GusWL WUt Ul uetdett waw 07
ARe] v HUL asld aell, Aue ueld eetell s wWad
GusR0L uetell GUE WSl Slal A Hize] Yol Rl
Attempt all questions (14)
AsleQal dAawal ceuall Al AHestal. 07
sl asell caval cdul ua Aoll w3Radl, ddqAl wal slaewl 07
ogRILcll.
Attempt all questions (14)
GeduR dsoll Yslz AWl A €35 Yslk AL El3lal UHsAl. 07
A wdls Asollend 1000 Hle: isais Gur B BD. Beot (g 07
AL BEat S1OL 72° 8l A o{lAcl sl 5. ase{l Azl 150
2R 8. (1) audlsell cdouss (2) €led waell douss (3) asell cioue
) as (g A uels (Gg of UIsOis (5) GllEl R (6) AR
Attempt all questions (14)
Aed VAot Slal 53 B 2 Aol £35 @dle] s vl 07
2l2d W 3otoll SLAEL Vol AR FLAEL LU, 07
Attempt all questions (14)
gsalltl AWl: (1) AGURs Aed Raat (2) RS 21dleell vaw 07
QA Rl ARl Qe Slol Hual HR2oll dossiar usl 07
Al
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